Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

1) A small fruit smoothie is 11 ounces while a large fruit smoothie is 13,86 ounces. The large

fruit smoothie is % larger. L.
2.
2) 1InFebruary {GVAR} got a puppy that weighed 13 kilograms. By October the puppy
weighed 18,46 kilograms. What was the percent the puppy's weight increased? 3.
4.
3) Itused to take {GVAR} 10 minutes to do 20 multiplication problems. Now she can do the
same page in 13,4 minutes. She is now percent faster. 5.
6.
4) Bonbuias ra3upoBKa - 370 286 Kanopuii, a MajieHbKas - 240,24 xanopuii. B HeGobIoi
ra3upoBKe Ha MPOIICHTOB MEHBIIIEe KaJOPHH. 7.
8.
5) A pole was supposed to be 16 meters long, but it was accidentally made 20,48 meters long.
The pole is percent longer than it needs to be. 9.
10.

6) The price for internet on a phone was §7 a month, but starting in November the price will
be §10,36 a month. This is a % increase.

7) B mpouwioM rojy JMIEH3Ms Ha PIOHYO JIOBIIO cTomia 53. B aToM rojy nuiensus Oyger
cTouTth 33,92 nomiapoB. ITO yMEHBIICHUE Ha MIPOIICHTOB.

8) Maraszun 06b1YHO Habupan B cpenHeM 165 mokynateneit B 1eHb. Ho 1Mo BBIXOJHBIM OHH B
cpeaneM HaOupanu 128,7 kineHToB B ieHb. Ha CKOJIBKO MPOIIEHTOB YMEHBIIMIOCH
KOJWYECTBO KIMEHTOB?

9) A library normally collected §49 in fees a month. But in March they collected §73,5. What
is the percent increase in the number of fees collected in March?

10) Hrpa o6bruno crout 50, Ho {GVAR} Kcnons30Ba KYHoH U Moay4ui urpy 3a 29. Kymon
OBLT HA MPOLEHTOB.
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Pemnre Kaxayro 3aaaudy. OTBeTHI
1) A small fruit smoothie is 11 ounces while a large fruit smoothie is 13,86 ounces. The large
fruit smoothie is % larger. L. 26
2. 42
2) 1InFebruary {GVAR} got a puppy that weighed 13 kilograms. By October the puppy
weighed 18,46 kilograms. What was the percent the puppy's weight increased? 3. 34
4. 16
3) Itused to take {GVAR} 10 minutes to do 20 multiplication problems. Now she can do the
same page in 13,4 minutes. She is now percent faster. 5. 28
6. 48
4) Bonbuias ra3upoBKa - 370 286 Kanopuii, a MajieHbKas - 240,24 xanopuii. B HeGobIoi
ra3upoBKe Ha IIPOLICHTOB MEHBIIIE KaJIOpUH. 7. 36
8. 22
5) A pole was supposed to be 16 meters long, but it was accidentally made 20,48 meters long.
The pole is percent longer than it needs to be. 9. S0
10, 42

6) The price for internet on a phone was §7 a month, but starting in November the price will
be §10,36 a month. This is a % increase.

7) B mpouwioM rojy JMIEH3Ms Ha PIOHYO JIOBIIO cTomia 53. B aToM rojy nuiensus Oyger
cTouTth 33,92 nomiapoB. ITO yMEHBIICHUE Ha MIPOIICHTOB.

8) Maraszun 06b1YHO Habupan B cpenHeM 165 mokynateneit B 1eHb. Ho 1Mo BBIXOJHBIM OHH B
cpeaneM HaOupanu 128,7 kineHToB B ieHb. Ha CKOJIBKO MPOIIEHTOB YMEHBIIMIOCH
KOJWYECTBO KIMEHTOB?

9) A library normally collected §49 in fees a month. But in March they collected §73,5. What
is the percent increase in the number of fees collected in March?

10) Hrpa o6bruno crout 50, Ho {GVAR} Kcnons30Ba KYHoH U Moay4ui urpy 3a 29. Kymon
ObBLI HA MPOLEHTOB.
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

28 36 42 42 34
48 22 26 16 50 L.

1) A small fruit smoothie is 11 ounces while a large fruit smoothie is 13,86 ounces. The large

2.
fruit smoothie is % larger.
3.
2) In February {GVAR} got a puppy that weighed 13 kilograms. By October the puppy
weighed 18,46 kilograms. What was the percent the puppy's weight increased? 4.
5.
3) Itused to take {GVAR} 10 minutes to do 20 multiplication problems. Now she can do the
same page in 13,4 minutes. She is now percent faster. 6.
7.
4) Bospluas rasupoBKa - 310 286 KajuopHii, a MajeHbkas - 240,24 kanopuii. B HeGOIbIION
ra3upOBKE Ha MIPOIICHTOB MEHBIIIE KaJOPH. g
9.
5) A pole was supposed to be 16 meters long, but it was accidentally made 20,48 meters long.
The pole is percent longer than it needs to be. 0

6) The price for internet on a phone was §7 a month, but starting in November the price will
be §10,36 a month. This is a % increase.

7) B mpouwioM rojy JUIEH3Ms Ha PIOHYIO JOBIIO cToMIa 53. B 9T0M rojy nuiensus 6yger
cTouTh 33,92 nomnapoB. ITO yMEHbIIECHUE HA MPOLIEHTOB.

8) Marasun 06b1uHO HaGKpaI B cpeaHeM 165 nokynareseil B 1eHb. Ho 10 BHIXOIHBIM OHU B
cpennem Habupanu 128,7 K1HEeHTOB B AeHb. Ha CKOJIIBKO MPOIEHTOB YMEHBIIHIOCH
KOJINYECTBO KJIMEHTOB?

9) A library normally collected §49 in fees a month. But in March they collected §73,5. What
is the percent increase in the number of fees collected in March?

10) Wrpa o6sruno crout 50, Ho {GVAR} ucnonb30Ba KynoH U Ioayurt urpy 3a 29. Kynon
ObUT HA IIPOLIEHTOB.
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